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Instructions for the candidates :

1.. Candidate must enter his / her
Question Booklet Serial No.

(10 Digits) in the OMR Answer
Sheet.

2. Candidates are required to give their
answers tn thewr own words as far
as practicable.

3. Figures in the right hand margin.
indicate full marks.

4. 15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

5. This question booklet is divided into

= Ta two sections — Section-A and
Section-B.
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Zvg-a ¥ 70 FqE 97 &, fH 6
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geiF @& fau 1 sF [uika &1 e
I o4 & 70 3907 TG TT OMR
IW-yFE H Ry M0 Ggl fadeq @l
Hd / Frd a7 9T G TR FI
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I wFE ¥ wEin & FA OB
= qeIMT TReTe 3T FITY

gvs - 7 H 2009 Iwig AT & |
gEF & [ 2 dF FeiRa & FAF
g fEgt 10 WAl HT IOT
Hfrard & 1+ 39 sfafiw 39 @78 7
6 3 Fdta vy R nd & v &
o 5 o fifa 8 fad @ fEt
3WYAT T IV AT AT #

feat swrR & geragiided TV F 8.
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(117 ]

In Section-A, there are
70 objective type questions, out of
which any 35 questions are to be
answered. [f more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener / tiguid
/ blade / nail etc. on OMR Answer
Sheet, otherwise the result will
be treated invalid.

In Section - B, there are 20 short
answer type gquestions, each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type questions, each
carrying § marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohubited.

| B |- | 3003-is9/60)
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s - A / SECTION - A

TS WA / Objective Type Questions

oy wear 1/ rom#nﬁxmﬁmwmﬁvwi frrit & o wet 21
Jﬁzmg#wwﬁﬁwvﬁom;ﬁzwﬁ@mﬁ:&ﬁasﬁwmé‘z

35 x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

1. mﬁmmﬁmwﬁmaﬁﬁﬁm%

(A) P,=E, . cos ¢ (B) P, = I cosé
(€) Pav = E s Trms sin¢ (D) P‘w = E ¢ I s €OS b

The expression for rcal average power in an alternating current circuit is

(A) P, =E ;08¢ (B) P, = I s COS o
(C) Pov = Eppps Trps 800 (D) P.,=E s Irms€OS ¢
2. ifes U & SR B 8

R .
w z (B) %
Q) R.Z (D) W.L
Power factor is equal to

R
@ (B) %
© Rz o w.e

B |- |3003-s9/60) Page 3 of 32
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(L R) aRaw | Feer @ R

Ay sin”! (‘*’—;] (B)
€} tan”' (E?REJ (D)
Phase difference in ( L-R) circyit is

in1 [ el
{A) sin ( RJ (B)

-1 ﬂl_‘. D

(C) tan [ R ] (D)
ZRETR T qRomE SO El 8

V.
(A)

v, .
c ! (D)
{C)

VS _VP
Transformation ratio in transformer is

V.
A = B)

VP
€y = (D)

Vi Ve -
R.C. ¥ fai7 §F #T R
4 MYLfTT (B)
<, MOLT (D)

[117]
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Dunensional lormula of R.C s
{A] n!U LU -r"l ) [H} hr” IJUT—';J
() MYO70 m MOT
6. YT UEET T S, HESH Bl B
(&)  Am™! B) Am™
{CY Am (D) Fm
S.I. unit of pole strength is
A} Am~! (B} Am™
([C} Am (D)~ © Fm
7. UHAAH IESE 83 T G & [9e01 T fFHy T SR R 8
(A) W=MB(l-sin8) B)  W=MBsin%
(C) W=MB(1-cos8) (D) W =AIB cos#
Work done in the dellection of a magnet in a uniformn magnete field 1s
(Al W =MB(1-sin6) (B)] W=ABsin6
{C) VW=M2(1-cos€) (D) W=AMBcost
8 MAFTEIFTATH I AT A S ST =05 )
Ay m=L ) m2=E
'C)  mc?=E (T) m:l';z
BNEEIE Poge 547 22
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10.

11.

Which of the following relations is correct for mass and energy ?
(A) m=E B) m?=E

2

(C) mc*=E (D)

3
I

&

vk |EAT (8),,F feanurdt dem ate @

(A} (1000), ' (B)  (1001),
(€ (111), | D) (110,

Binary number of decimal number (8),, is

(&) (1000}, (B) -~ (100T),
(C) (111 ), (D) {110,
NAND T2 FT dad Biar &

w I - ® o
© > o >

Symbol of NAND gate is

w - ® o
© > o >

qE- g FE T, vd &1 gdiE 0 T g8

(A) Tli2=0-693ﬁ. _ “.3] T2 0693

: 2
(C) T,,,=0-693% _ (D) T,,,=0-693%

[117]
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| 117 ]
The relation between half-life time Tlfz and decay constant is
, )
(A) T“2=0—693/l (B) T1;2"0.693
(€ T,,=0-693% D) T,,,=0-693%°
12. fafefaa & 9 o -1 & fow @@l & 2
(A SR (B)  faepe-gramt fatemor
(€ eiferey s (D)~ ERSH AHH
Which of the following is correct for a - particle ?
(A) electron : (B) electromagnetic radiation
(C)  helium nucleus (D) hydrogen nucleus
13, F=fafas # wb wdimr @ e 2

238 23 '
a2 U—+294U + 3He (B)  33°U-23%Th+ He

238 239
(C) 55 U=>§, Th+ SHe D) 55°U—232Th+ 3He
Which of the following equations is correct ?

238 234
(A) 50U 2%+ SHe B)  3°U->2%Th+ iHe

238 23% 4
(© 55°U->239Th+ JHe D) 338U—282Th+ JHe

B |— 3003-159,‘61’&' Page 7 of 32
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Surface density of charge is
A :9— = _[;_,)_
A} o« ) B) o :
© o= D) ©=0QA
17. e "o & aifar e € .
[ rR ) rR
A) C=4 4 =
(A) nEOJ—R (B) C 4neo(r+R]
(2 ”\ 2
_ R R
(C) C=dane,| < D = 4
' 0 \ (D) C=4ne, [ -
Capacity of spherical condenser is
(A) C=4ne ( = r R
0 (B) C=4n €4 TR
2
(C) C=4ne D = g
0 [ { } C=4n E{) [r — RJ
18. 1 p, & ER T
H
CUNR B L
Mt Kn
(G T o
Hi By
1 uy is equal to
. n
a2 ® L
Hy Ho
© My I
. HBiMo
B |-13003-(ss/s0) Page 9 of 32
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20.

21.

e et

[117])
e W = aren wiafaw g @
(A)  aATatasE Td @ (By drafas & I
(C) Wreate wd dh (D) &ul® & I
Image formed on retina is’
(A) real and erect (B) real and inverted
(C) virtual and erect (D)  virtual and inverted
I gXH I HEEA AHAT &8
Jo %
A —_ B 88
N o
. fe fe
C -=£ D et
(€) 7 (D) A
The magnification power of Astronomical Telescope is
Lo B L
(A) T, (B) 7.
. e (D) .£'?..
(C) 7, A
fqefatea 1 @ dFm % A #1 SR e 2
Ay WA @)
(C) 'r]'ﬂ’]'-ﬁﬂ'mm (D) GTaniq
["I_B_J - 3003-[59}60)J Page 10 of 32
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22.

23.

24,

Which of the lollowing is the causc of formation of rainbow ?

(A) Scattering (B) Diffraction

{C} Dispersion (D) Refraction

Fereferfan & @ fore- sy e = ¥ 2

(A) U ai B x-f&wo
(© A ad (D) AR ol

Which of the following is not electromagnetic wave ?

(A) Light waves (B) X-rays
{C) Sound waves (D) Infrared rays
(A}  48.75 (B) 41.14°
) 37.31° (D) 24-41

Critical angle for transparent medium diamond is

(A)  48.75 B) 41.14°

© 3730 (D) 24-41°

EE F T AR G L
Ay v B =k
. | >

{C) J?{T : - (D) _2_

[ 117 |
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Encrgy of photon is equal to

(A)  hv (B)

h
v
_ h
© Jhv (D) J;

25, YA & Bl Al (4 ) % SOaY 2T &

B Ho
A S B
(A} o (B) B,

Intensity of a magnetising field ( H ) is equal to

B ' Ho
A (B)y | ==
A Ko By
(€} Bym, (D}~ Byho

26, Tarfefaed 8 ww gearh ZREE & far g8l g 2

(N V<V, B V,>V,

(C) V. o=V (I V, << Vp

| J1
Which of the following is correct for step-up transformer ?

(A V<V, (B) V>V,

(C) V:I = V.” I (D] V._‘ << V’)

oy fave vt o fen udfors wfdara e g
(A) 2 (B} 31+

]
{C’) ind. (D) =

e e e e e "_E‘ij'{“:;U(;:i—:swﬁf_l. ]

SRR —
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28.

29.

Ty o i L S . A % . Sl S s

Inductive reactance for direct current is

(A)  zero (B)

{C) ol (D)

A NA (B)

© (D)
IA

infinity

1
wl

2
>4

_—
IA
N

Elcctromagnetic moment of current carrying coil is

(A) NIA (B)
© (D)
TA

ferger e &1 S0, WEE €

(A N By

)

€y N : (D)

The S.1. unit of electric ntensity is

() NC (B)

€ N (D)

N/C

N/C?

[ 117}
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30 Frfetmduynom s o aaet

Al J=-1-A =L
j ® J=
€ = D) J=I%A

Which of the following is correct for current density ?

A J= 1A L
{ Jl (B) J -
© J ﬂi?- D) J=I%A

31 hﬁﬁﬁﬁiﬁﬁnﬁnﬁmimmaﬁt?

v
{..S] H E (B) o _""'Vd
() wp=V,-E : (D) p=E%.v,

which of the following is correct for mobility ?

(A) . o w%‘f (B) p-%

€} pe=VyE D) p=E%.,
32 fasifefed G B0 @R 7

Ay  lwatt>1Js’ B) 1 watt= Vs '

€ twatt= laV (D) ) watt= ) Fn !
B R A S B EL T e

e i itammaant
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33.

34,

35.

[ 117 ]
Which of the following is correct ?

(A} lwatt=1Js"! (B) lwatt=1Vs™

(€} 1watt=]gv"’ (D) 1watt=1Fs”]

Tl ™ % A0 FE9 90T F FAL HS B &

(A} 3 (B 4

(C) 5 LI;}] 6

Colour code of carbon resistance for blue colour is

A 3 B) 4

€ 5 (D) 6
uftqgr-g21 o ¥ &

Ay e H (B YA
()  F @ o) Favamm
Ampere-hour is the unit of

(A)  power ' (B} charge

[(;.} CNCrgy (D) potential difference

Fefafradsica am s far e wd &

B - B -*
(A} Fag(E+VxH) o

(B} F-—-q(hw-{;]

S S S
(€ Fe (B VxB) D) F=qE+BxV)

i o .

b e " Pt 1

[ I-T3003 se7e0)
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37.

[117 ]

Which of the following is correct for Lorentz force ?
— - > = - -+ =
(A} F=q(E+VxB| (B)] F=q(E+V)
— -+ - — - -+ - -
(C} F=(E+VxB) (D) F=qg(E+BxV)
4 T AN A T A BT gl B €
(A) 025 m (B} 025cm
(C) 035m (D) 0-35cm
The focal length of a lens of capacity 4 dioptre is
(A) 025 m (B) _025cm
(C; ©035m (D} 0-35cm
Frffafma A = o1-fawgu 9 & fau od & 2
: By, M, _E Ky
A} w=—t— B) w=——
» Hy -1 py 1
: py =1 Ky — 1
= fDl w =
‘< W Wy ~ By M, —Hy
Which of the following is correct for diapersive power ?
(A) w ,;!'.l_”.........tl..r_ (B3) w ;M
i, =1 p, -1
Y ¥
po ol T
(C) W %~ (M et
}‘F “r ”'; . ;‘ﬂ
T [B]-[3003weea] T
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W@ T F AW (=) R A v g, @R (w=d ) A

f, @
A f,=f, B f,=2/,
€ f=3f D)  f,=4S,

If the focal length of a glass lens (u=%) in air is f_ and in water [p:

f,, then

XEN
N
=

A f,=f - B)~ f,=2f,
© £, =31, D) f =41,

Frafetga § S dau vl JemT ST dtee (1) 3R Y F iR (A ) F
fer wet & 2

1 1
SINRLS ® lxg
© Ix-L D) fe-i

X At

Which of the following relations is correct for intensity of scattered light ( /) and
wavelength of light ( 2 ) ?

A T B) J«-L
: 2

) I« " M Je-L
] }

(137 -[3003 Llslwooj

Page 17 of 32
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40. TaffEg d s MR R sW@n S vt ¥ 2

(A) e=1.602 x 10710C (B) e=1.602x10"'7C

(©) e=1602x 10718¢ (D) e=1.602x10719C

Which of the following is correct for charge on an electron ?

(A) e=1-602x10"16C ' (B) e=1.602x10"17C

(C) e=1-602x10"'8C (D) e=1.602x10719C
41. ﬁwﬁ—rftaaﬁﬂqﬁ%awwm-wamt )

(A)  ¢,=2-55 eV (B) . ~45=2-65 eV

(C)  ¢p=2-75 eV (D) 4,285 eV

Which of the follc;wir.lg is the work-function of sodium ?

(A} ¢5=2-55¢eV (B  ¢,=2:65 eV

(©)  ¢p=2-75 eV (D) $y=2-85 eV
42, E ° =ET B m?n il

(A) A+Z (E'B} A-Z

[‘,3] Z+—‘% [15) Z

Number of neutrons in nucleus is

(A) A+Z B) A-2Z

© z+% oz |

[ B |- |3003-89/60) . -Pagc 18 of 32
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43.

44,

45.

(117 ]
frrfetaa 7 81 gEw & o wF @ § 2

(A} (Blasha = (Bl (Bl (Blupirg = 2(Blinsimg
(C) (Blfyeaity = 2(B) apuimy (D) (B) apin = 3(B)figqnira

Which of the following is correct for short magnet ?

(A} (B) = (B)

axiol equatorial (B) (B Jan’rzf = 2(B) etqualtorial

() [B}t’quﬂlﬂﬂﬂf = 2(B) yriar (D] Blwaar = 3(B)

equalorcl

AT AR 8 T 2T P & HEIHA 1 A B E

. I : {
A T=20 | — (B) T=2=n
) J By MB,,

{C) T=2n

: (D). T=2n[MB,,

Expression for the time-peried of a magnet oscillating in a uniform magnetic
field 1s

(A) T=2n { — (B) T=2n
BH MBH

MB
(C} T=2n 1” (D) T=2n [MB_,

FfefEs § S T GEl & Rk 89 (B,,) IR gEEE g F g (n)
% foio @l & 7

Ay n?«x B (B) ne«B

(C) ne«B,,? "D} n?et

Page 19 of 32
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47.

fHET

Which of the following relations in correct for earth's magnetic field (B,) and

frequency of magnetic needie tn)?

2
(A} n“x B, (B)

(€} n«B,” (D)

Fofofan @ @ &% fan & foo e & o

(Al B=B,, tan8 (B}
(€ B= ‘{BH tanf (D)

nucBH

n?

1
x—.__..
By,

B= BHQ tant

B=BH tan‘?ﬁ

Which of the following is correct for tangent faw ?

{A) B=8B, tano {B)
(C) B:,,‘BI, tanf (D)
i pEFvieTr SR Sar

(A) f-:nr & (B)
©)  wo=pen, P (D}

Relative permeability is equal to
H

A B B

{A) W B)

€ mo=np, ()

B=B,," tan¢

pets 2
B-Bh.tan a

B [~ {3003-se/¢0¢

Previous Pathshala

Page 20 0f 32 - -



49.

50,

{ 117 ]
tnfertga o # ey w2

2 _pl 2 , ;
(A\  B*=B; B B BYen; -8B}

) B*=Bl.B} Dj B By
Which of the following relations 18 correct ?

A B*=B}.B] (B)

: 2 By
t B?*=Bl-8 D) B =
H

Frfefea 4 #1 Fam 3 fag pesg A R A & oo X

(A} c=Jpy €, (B) l

Cj
J”U ‘Eu

(C) c=’-}-19- (D} c=‘F~°-
€q Ko

Which of the following is correct for speed of electromagnetic wave 1n vacuum ?

1

&)  e=fnye (B) C‘—'-'T=-==

00 Ko €

Ho } b

(C} c= | —= {D] =_| —
& oy

guzﬁéagqqzﬁﬂmﬂiﬁr%

(A) 107! Fwew 8) 1072 ZXew
Q) 1073 TEen 0 1075 TTe

{B —_3003-10!;“;. -'
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n [ 117 ]
Wy _.'
The value of B on the surface of the earth is
(Al 10"} tesla B) 1072 tesla
. 1n 3 -5
(C) 10 * tesla (D) 10 © tesla
51, HRTETE $eelt 1 faed-graatg amget @
- -
& m==£ B m=L
- - e
{C) m=NIA D) m=i4
N
Elcctromagnetic moment of current carrying coil is
-5 -
~> NA =W,
(A m =—— A
A) ; B) ~m=t
(C) m=NA D)y m==~
N
52 famtetaa o @9 Neaame Faas & oo @ e 2
C | C(B)
N FAB (B) NA
A N
: == D -5
() C(NB] (D) C(ABJ
Which of the following is correct for galvanometer constant ?
'S C(i3}
e B !
A FAR 7
S A N
: Cl == D =5
©  <(5) = (‘( AB)
B |- |3003-s9/60) _ -I#“H_-I;:-].;-;- 22 of 32-
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SS.

e, -

[117 |
&T U 1 sfeery e &
(A) 3 B) ¥4
(C) 100 M (D) 50 3
Resistance of ideal ammeter is
(A)  infinity (B)  zero
(C) 100 ochm (D) - 50 ohm
JEHIG G I S.1. THF BT &
(A) I (B). @2
C) 2WeW (D) /¥
S.I. unit of magnetic flux is
(A) weber (B) watt
(C) tesla (D)  joule

o &1 fan fead g & fagra &t aftom & 2
(A} W B) Hm

(€ FAl (D)  3EW

Lenz's law is the result of which principle of conservation ?

(A)  Current (B} Momentum

1) Energy (D) Charge

B |1-13003-(59/60)

Page 23 of 32
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56,

S7.

a8.

Ay X, =2nfL (B)
© X, =217 (D)

Inductive reactance is

(A) X, =2nfL . (B)
() X, =2nfL? (D)
Y61 GRERTH W AR &1HAT it &

= ---'Q B
(A) M=1 7 ,! )
© M=1-% D)

Magnifying power of simple microscope 18

A M=l fj? (B)

(C) er: 1--% (D)

Aufga &t gl 3 ofe B @

) P=H+F (13)
5 )

P=PI x .li’2

P=R (P, + P}

117 |

—
R

e e s e = R [:Ii_ ~ | 3003 -(s9/80)
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60.

61.

P

———

Power of two lenses in contact s

(A} P= P+ P, . (B
N }J]
< r ='ﬁ£‘ (D)

ufg |.1ﬂ=3,r'2 104 H,=4/3 d9 wj.;g A &
(A} 2 (83)

(O D)

Ifu,=3/2 and p, =4/3 then “"py is

Ay 2 (B)
9

(C) 3 (D)

g & fom Hifas o1 g 2

(A)  20° (B)

(C) a8° (D)

Critical angle for glays is
(Ay 20 {B}
€) a8° (D)

fereger- <feren @t 1 Wl &l @
(A), 3 ' (3)

€ (A) 3T 3 2 (D)

'P=P]"PQ

P=P (P + F)

Oco ]

Wloo. N|—

30°

42¢ ()

30°

42° { nearly )

e
feregeit

[ 117

[ B ]~ 3003-9/60)
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Nature of electromagnetic waves is

[117]

(A}  transverse (B) longitudinal
(C)]  both (A) and (B) © (D) electrical
62. P ¥ unt 1 srEcHIE A ¥
] _sin[A+8m) _ sinA/2
U - Y YE Bl r=Gn(a+s,)
. A+8m
_sm[ 2 ] O _ sinA/2
€ w=—gnarz = : [A+Sm]
sin
2
The refractive index of material of the Prism is
sin(A+6, ) i sinA/2
A r=gnar2 B = nta+s, )
. [A+d,,
sm[ 2 ] D) _ sinA/2
(€) H= "sinA/2 ( o (A+6mJ
sSin
2
63. TeIIlg 9y & SR B ¢
CkEoRICT
(A)  TEEATE x TY B TS (B) ———
T ) T
€ T F g D)
B |- [ 3003-is9/60) Page 26 of 32
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64.

65.

Optical path is equal to

(A) Refractive index x Length of path

Refractive index

(B) Length of path

(C)  Length of path

D Length of path
() Refractive index
Folir 7 T e ¢

(A) s-asxlo"? F/m

(C) 8-85x10'? Fjm

The permittivity of free space 1s
(A) 8-85x107'2 F/m

(C) 8-85x10'? F/m

R-fgya #1 s.1 WEE B €
(A)  CN
() ¢

S.1. unit of clectric dipole is

(A) CN

(SIS

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(117}

8-85x107'! F/m

8.85%10' F/m

8-85x10""" F/m

8.85x10'! F/m

Cm

3]0

Cm

Elle)
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66. Fam e aRy w e g
= 49, - -
)  F=g—. 1275 B F=p- A%z
ury °rp
- -
(C) F= 3 1 . 992 r (D) }.= 1 99,
The vector form of Coulomb's law is
- - -+
( A.} F = 4115 . Q_]_.QE_ r (B] F - 4lle . q‘].QQ
© qrp o 1y
-+ -3
© F=g 1 9% Dl 9%
RGD 'v"2 4n Eﬂ I—; I2
67. fwdl TreE wt uifa gl &
(A} C=q-v B C=Z
. q
(C) C= %q-u (D) C=%
The capacity of any conductor is
(A) C=q-v (B) C=-;i
© C=iqv o c=2
68. 3TARTA TetEw &) oAl Sl §
A)  E=3C-V ~ ®  E=gov?
() E=é—ch D) E=cC.v
E. — | 3003-(s9/60) Page 28 of 32
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[ 117 ]
Encrgy of a charged conductor is
l . . | 2
A E==C.V =L
(A) =5 (B) E=zCV
€) E=%C.‘2V D) E=C-V

e T R ¢, F n WU GIRR &9 H A3 F A qeF ik g

Ay c=-12 (B) C= il
| mn

(€} C=nC, Dy C=nr?c
If n capacitors of equal capacity C, are connected in parallel, the equivalent
capacity will be
) C= Cil N L% %

(0 C=nC (D) C=n%c

70. 99 % feru wegyg |m= A v
(4)  3x10% vm™ . (B)  4x10® vm~!
€) 5x10% vm™~? (D)  10% vm™!
Dielectric str;:ngth for air is
Al 3x10° vm™! '- (B) 4x10° ym~!
© 53_105 Vm ™ ‘D 105 vm-!
LB_-.— 3063459{5{1} . Page 29 of 32
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W|Ug - 9 / SECTION - B
Wmmfﬁortnnuerwwelﬁom
gy wEaT 1ﬁzoa§m#rﬁﬁﬁ’mmﬁﬁmiam$ﬁvsw

Fraifra 2 : : ' 10 X 2 =20
Question Nos. ] to 20 are Short Answer Type. Answer any 1 0 questions. Each question
carries 2 marks : 10x2=20
1. foe@ gERE A En ¥ ? | 2
What is electromagnetic wave ? ‘
2, RS 6 € ? 2
What is Lorentz force ? -
3. fawaaTdt & St ITFEN Hl %_'R&l 2
Write down two uses of potentiometer.
4. — GRS & TEiER SH % FA S gae | 2
Explain parallel grouping of res-istors. -
A HRE & AT § 3 w4 weEa € ‘ 2
What do you mean by refractive index of medium ?
6. oy @ R o 2
Write the definition of wavefront.
7.4 qﬁﬂaﬁﬂﬂﬂﬂﬁﬂﬁﬁaﬂﬂwmg? | | 2
What do you mecan by end-on-position of a magnet ?
8. forgea fenva &\ qfoum ferd | 2
Write the definition of electric potential.
B |- 13003-is9/60) Pape 30 ;,-_';-5
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T (o) ool & ot & o 2
Write two properties of a_ﬂpha (@) rays.
fgamurtt 3% vgfa =1 memd 2
Explain binary number system.
WY1 & avi foetaur w5t gEwd | 2
Explain dispersion of light.
TR % fagd @ 9 T gue € 2 2
What do you mean by diffraction of light ?
yiieta siar # e | 2
Explain capacitive rcacfancc.
Tt AR den 0 & fn TR iRy w1 Fec e e 2
Write colour code of carbon resistance for orange and yellow colours.
TEH S B G | 2

. Explain magnetic moment.
T iU & uream ford | 2
Write the definition of angle of dip.
TR T FURTST o 5.1, e o | 2
Write down the definition and S.1. unit of magnetic flux.
NOT T OR i ! Hegam Wwit et it sxiores i | 2
Write the truth table and Boolean expression of NOT and OR gate.
e Fe 7 fera w2 2
What is the principle of conservation of charge ?
T AR A w0 g ¥ 2 2
What do you mean by apparent dip ?
B |- |3003-s9/60) Page 31 of 32
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e vty gy / Long Answer Typs Questions

mmm#zeﬁa‘aﬁﬁamﬂ‘fﬁﬁ?swﬁ%mf!m*ﬁw
saiwﬁufﬁ?-r?: .

3xX5=1x
Question Nf)s._ 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each
question carries S marks -

335*15_
21,

Wﬁﬁ@ﬁﬁﬁﬁmqﬁw@aﬂa&wmﬁl
Find out the expression for equivalent focal length of two lenses in contact.

22, wﬁmﬁaaﬁﬁaﬁmﬁmwﬁﬁﬁ{

)

5
Establish expression for the width of the interference fringe.

23, mﬁwmmmﬁwml 5
Explain construction, working and uses of a transformcr_.

24, w%m%mwﬁmm%?ﬁqmwﬁaﬁamﬁmﬁﬁﬁz
S-Sl | a9 @ geed E 5
Establish cxpression for heat produced in a conductor due to flow of current,
What do you mean by electric power angi electric energy

25

ﬁmﬂﬂﬁuﬁaﬁmmwwm%fmwmaﬁ

S
Establish expression for magnetic field at equatorial position of a magnet.
26. T % g 1 ford 3T 3@ wefore #Y 5
Write down Gauss's theorem and prove it.
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